
Year 4 Homework-
11.12.20

English
Maths

Don’t 
forget to 

share your 
work on 

Class Dojo! 

Keep 
practising 
your times 

tables!
4352 + 6 =

2424 + 4 =

8658 + 7 =

4352 + 40 =

2424 + 70 =

8658 + 60 =

4352 + 500 =

2424 + 400 =

8658 + 700 =

4352 + 5000 =

2424 + 6000 =

8658 + 4000 =

5867 – 5 =

9485 – 4 =

4352 – 7 =

5867 – 50 =

9485 – 30 =

4352 – 80 =

5867 – 700 =

9435 – 200 =

4352 – 500 =

5867 – 3000 =

9435 – 7000 =

4352 – 2000 =

https://www.youtube.com/watch?v=jGY-T4W-BOc

